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SN HaEuGY

oo

2
M o882 2 AST(MISX/ES - HELAHY)

ool OIMARBIEO ST X (=CRE
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- - T - = S = o = 0:”/&,% Wsa
HAECIEXIR ATMRAHE MIOILE 8,000
HEQIETIR] ME2UWR 9,000
HEsEHY 2 FAXA 3,806,530 3,883, 150 AT6,620
= 250,000
Al 3,556,530
201 LEr29Y| 168, 150 303, 150 A 135,000
01 AP 2t2ld] 168, 150 303, 150 A 135,000
aolsEdjgsos & 70,000%15H *x33| 3,150
SHOUAISEILHAE X 165,000
203 R =&IH| 1,000 1,000 0
03 AIBFAH2=XY| 1,000 1,000 0
HAEQIETJAMEY HRFA 1,000
306 =2 2,279,500 2,350,000 270,500
01 &3 2,279,500 2,350,000 AT70,500
SANAEIIIESIIUE EH2 2,279,500
307 Sl2to|& 1,057,880 1,229,000 A171,120
= 250,000
Al 807,880
02 CI2tAHAB X 651,410 816,000 A 164,590
HAEEAXNRAE 2 137,000
QIS LHE 2H 514,410
= 200,000
Al 314,410
05 QI2tAEZ 406,470 413,000 A6,530
AMAMHAHRISEILHEH 29 171,470
= 50,000
Al 121,470
ool 3y s AFY 235,000
401 AlEHIZE0HY]| 300,000 0 300,000
01 Al&H| 294,921 0 294,921
EANAEINBINLY AFSE S AlAH| 294,921
02 Z2ldl 3,818 0 3,818
SAHHIIFINLI AESs 55 220l 3,818
03 AIE=20Hb] 1,261 0 1,261
EANAEINZINLE AFSE S5 204 1,261
HAEMZLaD|HE XE 24 1,005,000 1,264,400 A 259,400
= 675,500
Al 329,500
307 QIzZtol & 1,005,000 1,264,400 A 259,400
= 675,500
Al 329,500
02 DI2FAAMEXR 1,005,000 1,264,400 A 259,400




SN HaEuGY

oo

2
M o882 2 AST(MISX/ES - HELAHY)

Sl HEAISIEN =0 XI&A (ctel &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
OlEM2LGIIIME 299 1,005,000
= 675,500
Al 329,500
GIOHAMACINIHENEH 29 469,200 0 469,200
pJ 234,600
Al 234,600
307 QI2HOIA 469,200 0 469,200
Il 234,600
Al 234,600
02 RItFMEE 469,200 0 469,200
GICHMAHE L MEH 2 469,200
pJ 234,600
Al 234,600
olgAe =X 5,946,614 5,700,035 246,579
dUXNE 1 =S NS AAES
goiEE =HEX ;370 3
= 1,688,277
Il 2,000,564
Al 2,257,773
HA&213X3 1366HIEl 29 296, 142 283,098 13,044
pJ 143,071
Al 153,071
307 QIZHOIA 296, 142 283,098 13,044
pJ 143,071
Al 153,071
05 2IRIRAES 296, 142 283,098 13,044
A2 X3 1366ME 29 296, 142
pJ 143,071
Al 153,071
SOHoHoe ng ¥ 88 42,075 47,175 A5,100
201 ety 7,075 9,175 2,100
01 AtR22lH 7,075 9,175 2,100
HEAAEX HEXE & 22 7,075
301 Yptsaag 15,000 18,000 23,000
12 JIEt2 &3 15,000 18,000 3,000
SIS EIS=2 XY 3,000,000+5 15,000
307 QIZHOI A 20,000 20,000 0
05 CIZtRIEZ 20,000 20,000 0
SUOHoL RS LA 29 10,000
SOHOHOIY 23HE AL 10,000
44 OH OH I o Ab KT & A 2,428,015 1,996,840 431,175
= 1,613,156
Al 814,859




A HEZuYD

HH: AUE @ ASH(ASK/ES - HEL0)

& gAY g@ (&9 ®M
_ _ AT
A -3 -H2A(SH) - HEAMY - BES O AFH bﬂ/‘\_“’” Hos
308 XNXIHHSOIE 2,428,015 1,996,840 431,175
= 1,613,156
Al 814,859
01 MXEHINELS 2,428,015 1,996,840 431,175
AOHOHTIGH XI2AIE 29 1,497,043
= 1,047,930
Al 449,113
SOHOHIIOH &5 2 260,440
= 130,220
Al 130,220
SHIISYSAY =AHaHAL 2F & 171,830
= 85,915
Al 85,915
SOHOHIOH Kb R A=K ALY 347,019
= 242,913
Al 104, 106
HZX SO0HHEE TEXE ALY 151,683
= 106, 178
Al 45,505
SOHOHILIGH A KIZAIE JIsE 31,000 94,600 A 63,600
= 15,500
Al 15,500
403 XEXISH S K20l H 31,000 94,600 263,600
= 15,500
Al 15,500
01 XXISMA2E X 31,000 94,600 263,600
SOHOHIIOH R KIZAIE JISEH 31,000
= 15,500
Al 15,500
=IO BESAE daX SXSE 202,113 195,413 6,700
308 NXISHHSOIH 202,113 195,413 6,700
01 MHXSHBIAEEXZ 202,113 195,413 6,700
AOHOHIISH KIJAIE EAK OIS
200,000+20H 4,000
SOHOHIIGH RI2AIE HE EX==E 72,600
55014 200,000+ 16F «12& 38,400
55S0I18H'0901F A RTHEX)
150,000%19E <128 34,200
SOHOHIIoH K& AL HEHl 1,000,000%79H 2 7,000
S IIEEZEESAE 4% OIS
100,000+60H 6,000
A IIEEHESAE HA sX+Y 43,800
55014 200,000+ 13E «12& 31,200
55S0I8H'0901F A RTHEX)
150,000x7& «12& 12,600
Hy=Zaaa AlE 24X 25| 13,993




HAZH o AASH(MEIK/LS - HEL0IA)
olgAe B (e
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K @Egj HwsZ
ST 5,000+ 193% * 122 11,580
S EY| 12,500+193 18] 2,413
HOIEZHRSAIL Ll 1,000,000460H 2 6,000
OE=XAEA(0IEAL) L IEE BAL =
X+g 48,720
ClEE2 EAK RS(L4SE D) 15,200 13,883 1,317
| 7,600
Al 7,600
201 Yer2 Yyl 15,200 13,883 1,317
| 7,600
Al 7,600
01 AtR2elt] 15,200 13,883 1,317
Mg D=yl 15,200
| 7,600
Al 7,600
4012 oy 18 2 22 152,500 162,500 210,000
201 LByl 95,000 105,000 £10,000
01 AtRZelt| 95,000 105,000 ~10,000
OIS Z2l o 02101 SZALDH M 5,000
OISHE oy o2 B2 90,000
301 YLrEAZ 4,500 4,500 0
10 BAHAHIE A2 4,500 4,500 0
ClEZAWTAY BAX AL 4,500
307 2120l H 53,000 53,000 0
05 PIZteIE2 53,000 53,000 0
RObE Ol SZ20Y DS 50,000
OlS8Ze =gold JlY A 3,000
IIRE, g2, SBNLYL 29 747,268 716,564 30,704
| 373,634
Al 373,634
308 XHXIEHHI SO & 747,268 716,564 30,704
| 373,634
Al 373,634
01 RASHBABES 747,268 716,564 30,704
yEANTL 2Y 275,852
| 137,926
Al 137,926
Y= (SHNLYL 2Y) 471,416
| 235,708
Al 235,708
HHEY, SZADHR SSNE 29 463,280 429,220 34,060
| 316,368
Al 146,912




A HEZuYD

?
HH: AUE @ ASH(ASK/ES - HEL0)

Cel: oA ZX (ee: &
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2

308 XHXIEHHISOIH 463,280 429,220 34,060
p 316,368
Al 146,912

01 HXSHBAEES 463,280 429,220 34,060
HEZ UK 2SAIL 195,530
p 128,943
Al 66,587
OIEZe Dok BSAIA 267,750
g 187,425
Al 80,325

MYEY, YEAUHL 2SAE JIS2Y 20,000 48,400 28,400
p 10,000
Al 10,000

403 KHXIGHH S XH= 0 H 20,000 48,400 28,400
p 10,000
Al 10,000

01 RXISAR =X 20,000 48,400 128,400
S, IFZHWNK 25AE Js2Y 20,000
g 10,000
Al 10,000

HHES  EATHIE L WLYXAY 224,285 484,286 260,001
p 157,000
Al 67,285

308 AHXIEHHISOIH 224,285 484,286 260,001
p 157,000
Al 67,285

01 IXSHBAEES 224,285 484,286 260,001
HZ Ol REXZ 8,571
g 13,000
Al 5,571
b= bk RFXE 205,714
p 144,000
Al 61,714

S8 ZHNHN N2SST20Y 2 o2 XY 300,286 0 300,286
p 210,200
Al 90,086

308 XHXIEHHISOIH 300,286 0 300,286
p 210,200
Al 90,086

01 HXESHZAEES 300,286 0 300,286
SZALNK NEsE L ASY] 222,857
p 156,000
Al 66,857
IIHEZAIHA NBsE ¥ A= 77,429
p 54,200
Al 23,229




| AAST(ASIEX/ES - HELAHE)

ciol: odRel B3 (el m 2
S HE - S(EH) - NRAY - BES Of) &t o4 e HI RS2
ZAUIHHEF=AHAX AL 23,950 22,992 958

Il 16,765
Al 7,185
308 XX EHHSOIA 23,950 22,992 958
Il 16,765
Al 7,185
01 MHXSHILEEZ 23,950 22,992 958
ZEMHHE F=HAE A 23,950
| 16,765
Al 7,185
Ols4d=Z4dgdy ¥ S8dH 22X 597,700 529,350 68,350
Il 597,700
308 MXIHHMSOIA 597,700 529,350 68,350
| 597,700
01 AXNHMBLEXS 597,700 529,350 68,350
ofdietdl HdotsHy 23 597,700
| 597,700
HEZOHC! ARIE O =0 K& AL 89,526 91,250 ANT1,724
= 59,621
Al 29,905
308 NXEHHSOIH 89,526 91,250 AT1,724
= 59,621
Al 29,905
01 HXSMBLEXS 89,526 91,250 AN1,724
HEZOH AR EN =0 X3AAMY 89,526
= 59,621
Al 29,905
22zt Iloi it 25 ¥ XA 16,600 21,400 A4,800
301 et asg 9,600 14,400 24,800
01 A2IEE A +06l= 9,600 14,400 24,800
222t oA+ XI& 9,600
M= 170,000%4H 122 8,160
AT 30,0004 F «12& 1,440
307 S12t01& 7,000 7,000 0
02 ItAASE X 7,000 7,000 0
L=t Tkt JIEALY K& 7,000
43518 ol 5,380 5,380 0
201 et 5,380 5,380 0
01 AtS 22l 5,380 5,380 0
A3 Z0Y wsz M 400%3,000% 1,200
332 HE5E NEANEHEAS us2dE =3l 980
332 E5E NEAEE S A==
100,000+2%& 200
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=

00
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100,000 10

1,000%2,000

02 02

1,000
2,000

16,000

1,000

15,000

16,000

1,000

15,000

16,000
16,000

1,000

15,000

p)
Al

122,400

61,200
61,200

7,200

115,200

Il
Al

7,200

3,600
3,600

7,200

Il
Al

7,200

7,200

3,600
3,600

7,200

Jl
Al

115,200

57,600
57,600

115,200

Il
Al

115,200

115,200

57,600
57,600

115,200

Il
Al

125,294

87,706
37,588

132,370

AT,076

Jl
Al

125,294

87,706
37,588

132,370

AT,076

Il
Al

125,294
125,294

87,706
37,588

132,370

AT,076

P
Al

27,600

19,320
8,280

27,600

Jl
Al

27,600

19,320
8,280

27,600

Il
Al

27,600
27,600

19,320
8,280

27,600
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SN

Rt

un)

Hu: ALIE S48 U SHFY ZX(MIASX/ES - HEL0A
Col: AANFSH L N (=L R-ED
_ _ _ Muo
SN YO (BH) - MBAY - BYS Off &k o4 il i~ o Hm=2
2.2 ALNEXNAME 22 (M NBD) 615,000
= 410,000
Al 205,000
OI0IS 20| Alg 4,517,396 1,795,966 2,721,430
= 3,162,177
Al 1,355,219
308 XHXIEHHI SOl 4,517,396 1,795,966 2,721,430
= 3,162,177
Al 1,355,219
01 UXISHBALSE 4,517,396 1,795,966 2,721,430
OIS 20l AlE 4,517,396
= 3,162,177
Al 1,355,219
SELIE 2XNE 29 2,663,022 2,563,808 99,214
= 715,000
Al 1,948,022
308 XHXIEHHI SO 2,663,022 2,563,808 99,214
= 715,000
Al 1,948,022
01 UXSHBALSE 2,663,022 2,563,808 99,214
320 RE=IANE 29 2,317,850
A E ALK Q12| 1,727,250
= 500,000
Al 1,227,250
zel2 gyl 470,000
= 100,000
Al 370,000
Nl =X g 120,600
55 20| & 200,000%48% * 128 115,200
552012+ '090| 2 A FHEX)
150,000+3% * 122 5,400
DREBAL EAT HREHD 86,000
= 25,000
Al 61,000
UNSBAIE MEX TI= 4,700
DISRX ZSMEINE 29 254,472
A B AR 0121 146,232
= 40,000
Al 106,232
zel2 gl 99,240
= 50,000
Al 49,240
EAREX 2 9,000
55 20/4 200,0008! *3 * 128 7,200
-55 20 2H('090| 2 A FHEXH)
150,0002 1%+ 128 1,800
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e R =g

BE: AYINE B4 U SATY FH(MARX/2S - HEL0S)
N |

0
0
r

ool AUNHSH Y N (B9 &2
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
HERIE AL2Y N 4,000 4,000 0
301 YU A 4,000 4,000 0
10 BALAHIBAD 4,000 4,000 0
BEQIIE=IAL EANATS 4,000
HEQIIE SIAL IS 1,788,060 162,552 1,625,508
= 894,030
Al 894,030
403 TXISHSX=0H 1,788,060 162,552 1,625,508
=2 894,030
Al 894,030
01 XXISHI=EE 1,788,060 162,552 1,625,508
BEOIIE STAL JS2Y 1,788,060
=2 894,030
Al 894,030
SHERINENHASS DS (XHH) 2,239,320 2,052,000 187,320
308 X XISt SO0 2,239,320 2,052,000 187,320
01 XXSHAALEES 2,239,320 2,052,000 187,320
SEOIIENE NS, S8R XY 2,239,320
HERINENHALS VSN (2X) 8,271,054 5,242,545 3,028,509
I 6,616,843
Al 1,654,211
308 X XIS S0 8,271,054 5,242,545 3,028,509
I 6,616,843
Al 1,654,211
01 MHAESHMBALSTS 8,271,054 5,242,545 3,028,509
SREIIE REYSE, RSY X 8,271,054
p 6,616,843
Al 1,654,211
PNER-Tab I 692,170 0 692,170
= 553,736
Al 138,434
308 X XIEHH S0 692,170 0 692,170
= 553,736
Al 138,434
01 IXSHILSES 692,170 0 692, 170
PNEL T =R ! 692,170
=2 553,736
Al 138,434
SRS NAAY 115,000 104,000 11,000
201 Y2yl 4,000 4,000 0
01 ALR 22/t 4,000 4,000 0
SR QI E ALY OHLHZIZA M 4,000
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SN HaEBGG R

un)

BE: AYINE B4 U SATY FH(MARX/2S - HEL0S)
|

el ALIHSY L XY (2o @)
= % ol (5 = 5 dEE =
SA B G(E) - NEAY - B Sl ko =
307 212+0I & 40,000 40,000 0
05 Bl2relet3 40,000 40,000 0
WOt BHE@OIE XY T2 29 A 40,000
308 XHXIEHH SO 71,000 60,000 11,000
01 NXSHALLES 71,000 60,000 11,000
SAUNE M FHANLAY 71,000
pE R E L 567,400 245,000 322,400
2 283,700
Al 283,700
308 XXIEHHIS O & 567,400 245,000 322,400
=2 283,700
Al 283,700
01 NXSHAAEES 567,400 245,000 322,400
b=z Ls A 567,400
2 283,700
Al 283,700
TN ER 352,800 4,368,800 A16,000
BNE 1 CXEINE SUHM 2HSHS
QoA E SHEX G 2,100 LA
=2 50,000
g 645,000
Al 657,800
BMESE 220| X4 252,800 268,800 16,000
201 Y2 ] 248,800 264,800 16,000
01 At222/HI 218,800 231,800 13,000
EaTY 222 HN S 20,000
CORHADIS LM BHSH ASA M 5,000
CRHADP S SO BOIZH SHAR M= 10,000
DRERHIE S Mg 7,200
AT RI= 2,200
s2g A= 1,000+5, 000 5,000
IIEAZIE R 3,300
JHEAZ EHOIX 22Kt 4,200
BuEDY dEER 153,000
O RIS 8 S dAeg
70,000+52 *63] 2,100
Dizgd Z=XE AOIE 0188 10,000
NEMHY 43S 4,000
A2 | 30,000 33,000 £3,000
DI Qrd Al 7,500,000+23] 15,000
CHHA JHBOl ¢ 2o 15,000
203 YR FAY| 2,000 2,000 0
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SN
X XH .
S Tt

el

REE-ER=R
A= 84 9

=

EANTAAIY E

-

BME

ol = (M=K

_ _ _ Muo
2N -3 S2(SH) - NNEAME - BHY Ol & 'oﬂ/'\_WH HunsZ
03 AIE=ZQREZY| 2,000 2,000 0
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